



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right) - \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{1}{24}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{113}{192}\right)$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{6}\right) = \left(-\frac{1}{6}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{59}{64}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{199}{320}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{13}{40}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{2} = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{427}{1080}\right)$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{149}{375}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{13}{18}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{79}{100}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{31}{64}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{2} = \frac{123}{250}$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{3} = \frac{71}{216}$$

$$\left(-\frac{1}{5}\right) - \frac{2}{5} = \left(-\frac{3}{5}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{3}{5} = \left(-\frac{76}{125}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{93}{80} = 1\frac{13}{80}$$